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Check the correct words to complete the sentences, (5 POINTS)

[ana serves passengers on an aiplane, She'sa _________ |
{ 1:MCH: =flight attendant~chef~receptionist}
Jonathan is my father's brother, He'smy _________ |

{ 1:'MCH: grandfather—~ cousin~=uncle}

Check the correct words to complete the sentences, (& POINTS)

LA (ESTR),

HLFRICIEY) & 39K 7d=2

Complete this story with words in the boxes, One word will not be used (& points)

I live in a nice neighborhood in a big city, There are £ 1:MCia litle~=many~nearly all~few-much-~no one}
nice stores and restaurants near my house, [t's busy during the day, but there isn't £ 1:MCa
litle~many—~nearly all-few~=much~no one} traffic in the evening or at night, There is {1:4C =a
litle~many—~nearly all-few~much~no onel pollution, but {1:8C:a little~many—~neatly all~-few~much~=nao
one} thinks it is going to be a big problem, There are many programs to help keep the city clean, | think
that {1:8C:a litle~many—~=nearly all-few~much~no one} the people whao live in my neighbothood like it

Complete this story with words in the boxes, One word will not be used (5 points)

Dana serves passengers on an airplane, She'sa _________ | I live in a nice neighborhood in a big city., There are E] nice stores and restaurants
Ochef Oflight attendant Oreceptionist near my house, It's busy during the day, but there isn't M traffic in the evening or at
night, There is [v]  poliution, but [v] thinks it is going to be a big
Jonathan is my father's brother, He's my | problem. There are many programs to help keep the city clean, | think that [»]  the
O 5iis Ograndfather OuFls people who live in my neighborhood like it
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